HCT s

2-Jaw Closed-Center Chuck

m J-jaw wedge-style power chuck

= AR RS ATES

"L - Q 4=
il R
SERRATION PITCH 1.5 W SERRATION PITCH 1.5 W
5 B P U e -
i ‘ ‘ 60° - - \<
- - et e X
I 1 @B | F-;-rrl_l
. T P =
@ | T
{% a0 e ‘
: _ ”
! H { | :___T .
= h&Jp l
| 30*/ _ 30 L/ o ] 4 x
T 5| “E - — r
&=
1 /
'
I F: |=-'L'-=F=l— H / F‘_ .
B - B -
I =" HCT-04,05 s = HCT-06~12

b
Grease

It Is recommended to grease chucks at least twice a day in order to maximize longevity.

ATERSS ZN—XEB2R.

ull

U‘i’UW

096

-7\ X3

Om 6828”5:

M16x2.0

Omax. Omin. F‘mm

2019 % 11251 5

M35 1.

¢H L

!_;_: : Mﬂﬁ

0 e 1

HCT-0¢ 0 8

o3 n iR n =] o Pl

170 1334  6-M12x85 25 46.3 419 225 M5 125 106 035 36 M20x2.5 5 38 42 95

HCT-10 254 89 220 1714  6-M16x85 18 30 51.1 46.7 30.75 1125 158 133 40 16 36 M20x2.5 5 45 46 110

HCT-12 304 106 220 1714  6-M16x100 18 30 61 55.15 4875 1275 163 133 49 18 36 M24x3.0 5 50 535 129

Specifications
Jaw Stroke  Plunger . Max. Permissible Max. Static - 2 Max. Hydraulic - - KITAGAWA®
Type Dia. Stroke Grip Dia. [mm] Input Force Gripping Force Max. REM. Weight Gl Presiure Operating Cylinder Model
[mm] [mm] Max. Min. [kN(kaf)] [kN(kaf)] [min-1(r.p.m.}] [kafl [N-m*{kgf-m*}] [f'.-Tl:IEI{H-;fJ'E:I'I'I"EI] [Hy'dra;JIiu:;]
HCT-04 6.4 14 110 5 5.3(540) 15.2(1550) 6000 3.8 0.26(0.027) 1.68(17.1) Y-0715R NT-04
HCT-05 6.4 14 135 16 5.3(540) 16.9(1713) 5500 5.8 0.59(0.06) 1.68(17.1) Y-0715R NT-05
HCT-06 8.5 18.5 165 14 12(1224) 35(3569) 5000 11.4 1.67(0.17) 1.7(17.3) Y-1020R NT-06
HCT-08 8.8 19 210 17 16.5(1683) 50(5099) 4000 22 5.20(0.53) 1.6(16.3) Y-1225R NT-08
HCT-10 8.8 29 24 22 19.5(1988) 72(7342) 3500 31.6 11.5(1.17) 1.9(19.4) Y-1225R NT-10
HCT-12 105 30 310 22 27.5(2804) 104(10605) 3000 o5 27.8(2.83) 1.8(18.4) Y-1530R NT-12
% Maximum tuming speed is based upon actual measurment, HRAEERTEFNE.

i Specifications are subject to change without notice,

s Samcully Machinery Co, Ltd, is no longer an OEM manufacturer for I{itagawaﬁlmn Works Co,, Ltd,

54

Power Chucks

* RAMBELENE, BASTEN.

H=FRMESRS BAILIIOEMEF,



